BF FEBE 1 YDIOBER ( 3—Hh)
)OO RF—L% DL M L Py
A EIBETC A ZF A 1 - 1 4 6 56
B OK¥az=7 0 — 2 0 -12 -103
Cc FI/IR/RPAZTA 2 — 0 5 7 74
D FMEYLZT 1T - 1 3 -1 -27
. RIERTC2=F A VS OKZaz=7
a0 ER E ) :2 _ 193 . ¥E BK  #O
#O MF ER _ NG BEK #O
N
= ¥ 15 — 8
g {: B LA 2115 — 7[00 ( 0 )#&EK ®E B
'lr* —
A 15 — 1
#D R & ol — sl =R /R #0
#D HWF B _ SFHOBE 20
" F/AVIZTA Vs FHES1=7
#O WA HAS ) :2 ~ :3 ] ®% B8 H0
#0 WX ER m#F W #O
" 15 — 9
= X 13 — 15
E‘ é B mE —BR of(8 — 1502 ( 1 )@AWL HEF B
’lr“ —
A 15 — 3
#0 EA ER N P BE AS #O
#0 B% HE _ &E KA #0
" e DR Vs FRES1=7
15 — 12
#0 B E s — 6l wE BE =0
#O MF R m# #Hw #O
" 7 — 15
3|1
®| 5 15 — 12
g ®l 2 MFE X 1l = 52 ( 2 ) AW EE B
7 19 — 20
A 15 — 7
7D BR R s — sl ZE ¥ =0
#D A #E2th _ #E kKA #0
. OKYaz=7 VS F/RT2ZTA
0 FE BX . ; _ :2 ) WE HAS 40
#O INB FEX 3 A& EX #0
"
=t 4:1 10 — 15
g e Rk ER olo — 1502 ( 3 ) BB E®E I
’lr“ —
= 2 — 15
#0 THE #K ols — sls mHFE —R #O
#O srE RE 3 B HE #0




BF FTEE 2 JIVIBER ( a—~kr)
JUHRF—LE DL M R BrmE
A P17 0o — 2 2 -3 -29
B BLDPaz=7 2 — 0 4 3 32
c tEPa1=7 0o — 2 1 -8 -59
D £ -FPazZT7A 2 — 0 5 8 56
. K17 VS BELOYaA=7
15 — 7
#O BHE RiE ol — 1o 58 BX #O
#DO RR EE _ AL Bth #O
1|7
®| 5 3 — 15
g # | ® EE B 1 )03 — 1502 ( 2 )48 &K ]
’l7' _
A 9 — 15 _
B#O XF BE N T BN EBI} #OD
B#O EK BE s — 15 mE E #O
" tgJaz7 Vs £ - ZT1=TFA
14 — 16
#O MR ET ole — 5l HR KE #O
#D SH B A w3 #D
" _
2|7
5|7 4 — 15
‘g & B U0 fEx 0 ) 03 — 1502 ( 3 |WmE HE B
flf _
4 1m — 15
BwD & % ol — 1l AH MAER #0
#O EF AR _ AR BEE #O
" Pl 1=7 VS £l -BESa1=FA
15 — 13
#D IBE g 2 l1s ol o HR KE #O
#D RR EE A B\l #D
. _
3|1
®| 5 8 — 15
gfﬁﬁﬂiiﬁﬂﬁ 1) ofis — 172 2 ) A% E&E B
ﬁlf _
A 1m — 15
O XH BB ol s sl o By HE #0
#D FEK BE AH MABR #0
. BLOY2=7 VS tBETa1=7
5 — 15
2O S EX ole — 5l it EE #0
B#O IF WME RE HF #0
. _
4|
®| 5 15 — 3
g & S @A 2 ) 2015 — 3o ( 1 )wo &k B
’lr _
4 B 15 — 8 .
#O ER BRI} olis — 11l o BF EE #O
w0 EH E ~ 5H Bl #O




BF FEE 3 JVIVIBER ( a—~kr)
) UHRF—LA% DL M R BrmE
A Barmioa=F7A 2 — 0 6 12 140
B F/R/Pa1=TFB 0o — 2 0 -12 -129
c Mo a7 2 — 0 6 12 141
D FERT =78 0o — 2 0 -12 -152
. BAHT21=T A Vs F/RT127B
15 — 4
2O He RE N I I =# B3 #O
O BER MME R EW #90
" _
= 5:1 15 — 5
Ble| e s %m 2015 — 8o 0 ) BE BRX =
‘lr _
4 15 — 1
#O FAH B3I olis — ol XfE ¥k #O
#0 EBHF | _ g —38 #0O
gz IMRD 2T VS EWETC 178
15 — 3
#O 4L #BE olis — 4lo EH #%4& #0
B#O &g B RE BE #O
" _
2|1
8|5 15 — 1
E‘ # 8 BE AR 215 — 3o ( 0 |m k& B
’lr _
4 15 — 1
#O A A ol — 1l AREA #K #90
#O WEH ME _ B kB O
" BAHS1=FA VS EBETS 1 =78
15 — 1
#O BEX MiE 2 |15 a1 o A &4 #0O
#O TR EIKER KE B3} #O
. _
= /):-l 15 — 6
’g & 2 WA RE ollis — 3o 0 )@ =% ]
ﬁlf _
A 15 — 1
B#O B XF ol — 1l ARA #K #O
#O FH OEH _ m B #O
. F/RV1=FB VS IMRT2ZT
9 — 15
#D =H B3 ol 7 — 5l i gF #O
2O WE B & Bl #O
4 _
4 |
®| Y 1 — 15
g #lE BR RX ofls = 152 ( 3 )= ®m %
’lr _
& 2 — 15
#DO KB EK ols — ls 2H #BE #O
#DO W@ —iE B EH Kb #0




BF FTEE 4 JVIIUBER ( a—~kr)
JUHRF—LE DL M R BrmE
A BRYaz=7 0 — 2 1 -8 -59
B £ RIGHEWings 2 — 0 6 12 117
c Bamoai=7B 0o — 2 1 -7 -79
D RS =7F 2 — 0 4 3 21
Qz wmRTa=7 VS € RIGEWNings
16 — 18
#O KB B ols — sl #& B¥ #0
#O &R BA _ BE Am #D
117
®| s 6 — 15
gﬁiﬁmﬁﬁﬂs 0 ) of14 — 162 ( 3 )FH# 18 B
‘lr _
4 3 — 15
27O FEH WE ols — sl WA #HiE #D
#O JIT +E _ it BEM #D
Qz BATH 1=FB VS hRSa=7
5 — 15
B#O  #K IE s s it HLB #D
BO  hNEE HEA _ it HMFAT #O
2|7
®| 5 15 — 12
‘g & ¥ nul 1 110 — 1502 ( 2 |RA = B
’lf 6 — 18
4 15 — 9
#O H WK olis — 4llo Nk BE #HO
#O Rl RE _ hft Wl #O
" LIRS Vs GEDEED ¢
7 — 15
#O KB W ols — 15 it BB #D
#O FA MAE it HMFAT #O
. _
3|1
8|5 15 — 3
gfﬁﬁﬂiiﬁﬂﬁ 1) 2015 — sfo( 2 )it M ]
ﬁlf _
A 1 = 15
2O BRE =X ol s 5 JRE T BO
B#O WE FEE _ Mgk BE #HO
. & RIB W ngs VS HAmT1i=7B
15 — 3
#O il ol — ol AT ER #0O
2O & BHE @K B #O
. _
4|
®| s 15 — 4
g & % s A 3 ) 2015 — 500 ( 0 )l HE %
’lr _
4 15 — 4
#O UE HE ol — ol hiE#HE xEF 20
#O LB E& 3 XX MR #O




BF FBE 5 JYIVIOBER ( a—~kr)
U RF—LL Y Lo BB M R BrEE
A HEHLBE 17 - 1 4 5
B KE =7 - 2 1 -7 -52
c NEYSTHLEA - 1 3 0
D £l -%&Ya=7B - 0 4 2
5 HRESRESLZ7 VS P DR
16 — 14
#O EHF EH N RE KB #0
O o #EX #Hik BHE #D
. _
= 4:1 15 — 2
’g &2 W OEX 3 5 — 6]o0( 0 )H#o =% B
‘l7' _
4 15 — 6
B#O EF B —r B BRE&£E #0
#0 WA R ~ BH B3 w0
f;; INEYSTHLEA VS E)|-ESa1=7B
6 — 15
#O I TR s — 15l BEXx Ef #O
#O FEHk R AE OMEF #O
. _
2|7
®| 5 13 — 15
E’ #l& WO IR 1 15 — 1202 [ 2 ) ime B 9
’lf 10 — 15
4 15 — 6
Q) LA R 5 o~ 2l IngE HEE #O
#D AH XE _ BE RRE #O
o HRERRSL=7 Vs %Il - %2178
7 — 15
#O BAH #H s — 15l o E OMF #O
'O W EX IngE HEE #O
. _
=t /,:q 15 — 4
E &2 W e 1 5 — 60 2 )m @3 ]
"lr _
A 15 — 13
B#O EF B 0 — 15l 2 X BEf #O
#O WA kA 0 s LA B #0
. KAES2=F VS REHSTHLEA
7 — 15
#D RE{E KB N Mk FE|N OHEO
#O @K EA ik R #O
+ 17 — 19
4|
®| 5 15 — 9
g Bl E %O EX 1 5 — slo( 2 )FEHE x= B
’lr _
4 2 — 15
2O B BE s — 15l 2 a8 BE #0
CONIE W _ o FRED




BF FEFE 6 UVIUVBER ( a—~kr)
YU RF—LZ Y Lo BB M R BrEE
A NEYSThLEB 0o — 2 0 -11 -105
B RES1=7 2 — 0 5 7 56
C [IHSYaz=7 1 = 1 3 1 0
D WESaz=7 1 - 1 4 3 49
. REYSThLEB ') HNES1=7F
2 — 15
#D & OEK ol — 5l LU EBA #O
#O T EX 8 B #OD
1|7 -
|7 7 — 15
g # 8 & 0 ) o1 — 152 ( 3 )ER #EH ]
‘l7' _
L4 9 — 15
B#O FE OAEA ole — 5l ik EHE 20
#O @#IA MFE _ B & BO
gﬁ IHSSaz=7F VS WES1=7
3 — 15
#O @#iA ' ol 1 — 15 e & #O
#O #EE D WE WA #O
2|7 -
®| 18 — 16
’g & w BN B 2 ) 2015 = 100 ( 1 )dn & B
flf _
L4 ) 5 — 5
#O KE FM ol — s I EA #O
#O IR EIY _ HL #iiE #0
g NREI53ThLEB VS WES1=7F
1 — 15
#D ® EK ol s — 5l WE WA #O
#O xR i wmf FH  #O
3|7 -
®| 5 3 — 15
g?ir B OEE EX 0 ) of2 — 1502 ( 3 )40 & ]
flf _
4 14 — 16
#DO FAE BA s ; It &EA #O
#O ®H HE s — 1 WL #E O
. 2 Dty g VS IHS$a=7
15 — 12
#0 bR EE olis — sl N B} #O
#O A1 & B A #D
Al 15 — 11
=5 8§ — 15
‘g§ B ORE 2 ) ofl7 — 5f2( 1 )@EN $HE B
'|7 _
4 15 — 8 .
#0 £H EA ol — 1l X# M #O
#O ML BA 3 i mx #O




*H% I‘—j_)(.‘Jl\i BAHO1=FA

S
l

BF

B YN A1l <

NI N<

HEKEE=Z - cmo

- AL TN S

BN A1 N

H YN IR <

W= - #eN il <

HEFES - c 00 0

HEKEE=S - cwo

"R S

W= -#Ndil ko

BN A1 N

©eoendIND

SEGANETEN &)

4 NUBIIN S

N 1| N

“Yﬁm§1_:/Aﬁv

HEEES - c o

EuEEH BN AN




BFORM REb—F S 2 FABRERR

g E)N-FY21=7B VS F/ECaA=TA
16 — 14
#O A B s o— a4l BEE KRR #O
i #O mE A X FEFE #0O
m|7 -
|5 15 — 10
c|i® B EA 17 — 1510 ( 0 ) RiB E#® B
17 —
Is —_
#O ik sk _ 0 HwHE —B #O
#D B s 3 g4 BIEE #0
il £ RIBEWings VS EBET S 1= F A
5 — 7
#O il % 5 — ol BN E #9
1 7O R BHE mE EH 80O
m|7 -
|~ 15 — 11
R # ¥ OEH O 5 — 3|0 0 )X &t ]
2|7 -
Is —_
#O WA Al 3 0 BR & #20
#0 LB E _ mE B HO
:}z INRD 2T VS HBrmPa=7A
5 — 15
#O dN EBE E 1 Hy ®E #2O
1 #D HH Kt B R EAER #O
|7
|~ 5 — 1
Gﬁiﬁﬂﬂﬁﬁ B — 9|0 2 ) B 3 ]
3 |7 -
4 6 — 15
#D A A 0o 18 £H &3l #O
B#D £ B B =} kF OHO
;; NES1=7 VS WES21=7
5 — 3
#0O HhE £=E T HIL FiE #O
1 #DO @l & HH &E #O
=1 -
| 17 — 15
G B B £h  ESN 16 — 140 0 ) #F HWA B
4|7 —
Is —_
#D #LU BA _ 0 kO & #O
#O EE E [k o S - (C))




BFORM REb—F S 2 FABRERR

15

* HREMRES2127 VS £l - %S1=7B
3 — 15
#D HHF #EH 0 — 15 nE fEk 20
9 #D W #X AE MF O #EO
. _
=]
|~ 5 — 6
G @ I N 1 15 — 6 2 | B’ @3 ]
117 _
|
4 15 — 17
#O BR B4% s _ 15 X EN #0
#O WA BN 3 A B =0
. SR HNings VS )l -#S1=FA
15 — 11
#O WH OE 5o~ 1 HR BB #O
5 #O Bl B MR B\l #O
. _
[l
K 15 — 12
G # B U@\ ZE& 2 5 - 7 0 AKX E4E B
2|7 -
N —_
#O UE Al _ HE gFE #0
#DO EF BA B AH BXB #0
o BELOS1=7 VS BLAHT1=FA
8§ — 15
#D SE #/X s s e TR #0
5 #0 BE # R BEKE #O
. _
[\
B 7 1 — 15
G s BLE Eih 0 0 — 15 2 | AE &3 ]
3|7 -
4 _
#O EHA &I} 3 EH 3 #O
#DO S EX _ FH FEH #O
. RES1=7 VS HRS1=7
10 — 15
#O R E£=E 6 — 1 it AR #0
5 #DO I & rith HFA E#O
. _
[
K 5 — 6
G # B RA{L WA 2 5 — 5 1 ) & M B
4|7 -
& 15 — 10
2O U EBA 1 - 15 JRH EE Q)
#O KBk [EiR MK BEBE #O




BFORM REb—F S 2 FABRERR

Q )| -ES21=-7B VS £iRIEEWings
5 — 9
#D AEX EF 5 — 17 == 1 Q)
. 2O $RA EBHE N BE #HO
£, 12 — 15
R
[ ¥ 10 — 15
ol ® B g A 0 12 — 15 2 )WuE ZEE B
17 —
s —_
#O NPk Bk _ WHE Hi #D
B#O B g3 3 H OB #D
. BAHmS1=FA ' RS 1=7
5 — 7
#D EBEX MHE 5 o— 1o - - )
” #D e TRE b5 B #0O
. _
. A
[ ¥ 5 — 11
G # | 8 55 EF 2 15 — 11 0 )W FA ]
2|7 -
N —_
#O AHA &3} _ ER AN #D
#D FH EH _ KE HiE #O
o &R EWings 'S BAHT1=FA
7 — 15
#O Il B 6 — s e Rt #0
#D EF B&E A BEAE #O
. _
S /,:7 7 — 15
i ® 2 FH A 0 8 — 15 2 ) BE@E %3} ]
i _
|
N —_
#0 WA AHE _ = EFE 2O
#0 WA ZE& FH EHE 2O




